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#1
Evaluate the following Limits, if they exist:

a) 
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b) 
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#2
Find the derivative by using the limit definition of derivative:  
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#3
Find the derivatives for each of the following functions (simplify where appropriate):

a) 
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b) 
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#4
Find the derivatives for each of the following functions (simplify where appropriate):
a) 
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b) 
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#5  Find the derivatives for each of the following functions (simplify where appropriate):

a) 
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b) 
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#6
Find the Equation of the Tangent line to 
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 at (-1, 3), in Slope-Intercept form.

#7  Sand pours from a chute and forms a conical pile whose height is always three times its diameter.
 If the height of the pile increases at a rate of 7 inches per hour, at what rate is the sand pouring 
from the chute at the moment that the height of the pile is 6 inches ?



#8  You are going to make an open box from an 6x6 sheet of metal by cutting a square from each


corner and folding up the sides. Find the dimensions of the box that will Maximize the Volume.

#9  Given 
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. State intervals on which the function is increasing or decreasing, concave up

 or down, find all relative maxima and minima, and points of inflection. Then, sketch the graph.  
#10  Evaluate each of the following:
a) 
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b) 
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Answers:
#1
a) 
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b) 
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#2
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#3
a) 
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b) 
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#4
a) 
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b) 
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#5
 a) 
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b) 
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#6
 Thus, 
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:  So, Tangent line is: 
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#7
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#8
 Piece removed must be 
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#9
 Increasing: 
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#10
  a) 
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b) 
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